R. D. Engineering College, Ghaziabad College Code-231
Approved by AICTE & Affiliated to Dr. APJ Abdul Kalam Technical University, Lucknow

Pushplata Scholarship Scheme

Policy(Year 2022-23) Date:- 12-05-2022

On the Basis of Admission test conducted for the students taking admissions in B.Tech 1™
Year of all the Courses, College Management has decided to provide Scholarship to these
Students in the form of Fee Concession in their 1™ Year Fees.

The Criteria for scholarship is as follows:-
Students Scoring

) 90% and above will get Concession Rs 15,000.
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R.D. ENGINEERING COLLEGE,GHAZIABAD
PUSHPLATA SCHOLARSHIP SCHEME(DETAILS)

-
Session: 2022-23
CONCESSION
5.NO ROLL NO NAME FATHER'S NAME BRANCH | YEAR | TOTAL FEE (Rs
(RS) | provIDED (Rs)
1 2202310100102 Tariia Pradeep Kumar s 15t 55000 15000
7 2310100112 Yanishka Aggarwal Arun Kumar s st 55000 15000
E 2202311540003 Aman Kumar Rarwir Singh C5-Ds 1st 55000 15000
4 2202311550006 Arikiur Marender 5407 1st 55000 15000
5 2202311530046 Maohd. Adnan Mohammad Umar C5-AlML 1st 55000 15000
6 2202310130033 Muriy Inderpal Singh I 1st 55000 15000
7 202310130038 Rishi Mishra Ranjeet Mishra T 1st 55000 15000
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Pushplata Scholarship Scheme

ualifying Examination Time: - 2 Hrs
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Note:- Attempt all Questions. Each question is of 1 mark.

1. If the 5th termrof an arithmetric progression is 17 and the 9th term is 37. What is the 1st term?
(a) -6 mﬂ} 0 (@3

' 2. Adie is thrown. Let A be the event that the number obtained is greater than 3. Let B be the event that the
number obtained is less than 5. T{i;e.n P(Au B)is

(a) 3/5 (b) 0 ) 1 (d) 5/2

3.If Cos x + sin x =a then the value of cos 2x is

@a  (Mavi-a  (gx2ta  (@ga-l
4101+ Y1+ X yan x = 1+ Y1+ X thensind4x =

(a) 4x (b) 2x M (d) none of these
6"=x+l '
5. For the real value of cos X then

(a) ¢ isacuteangle (b) @ isobtuse angle (c) right angle {gynﬁ; of these

ag=— ﬂ = - . W i n
6.1ftan 7 ,tan 3, thencos2%= \\,\\-D" o P el
'___‘__.-1 ."ﬁ._", .¢ ‘_L\“ILL' o =.]
; i : e
{a) Sin 28 _AD) Sin 4 p (c) Sin 4 F (d) cos2 p o '\".'-‘-‘*‘3\
1 coRET
2{'“8_[ EOL T —CoHAE
7. The value of o€ e i5

(a) 1008 :gym'uu (c)2017  (d) 2000
S




_@
g.1f 2" +27 =27 then &% atx=1=y

(a) 0 y/f - (c) 1 (d)2

— =) .
9. Derivative of X +X atx=-1is

(a) -2 (b)-1 oo @
10. A number is chosen form among the first 30 natural numbers. The probability that the number is a prime number 1:
1 3 1 11

@3 om0 30 @ 30

11.The value of gravitational acceleration on Earth is

(a) 9.8 m/s M m/s’ (c) 8.9 m/s (d) 8.9 m/s’

12.What would be .the height of an artificial satellite so that it remains stationary with respect to earth’s surfacel_)
&}d’@ﬂﬂ km above the earth surface (b) 40000 km above the earth surface

(c) 26000 km above the earth surface (d) 63000 km above the earth surface

13.The value of gravitational acceleration

\Jajin/’crcases 4o atight increases from the earth. (b) dccreases as height increases from the earth
() remains consiant. (d) Nong of the above

14.The centripetal force required by the artificial satellite to revolve around earth is provided by

(a) fuel contained in the satellite (b) gravitational force due to sun
\_(cc‘)g/ra-‘l-'imtional force due to earth (d) Thrust produced by burning fuel

15.In which region of earth the weight of a body is slightly greater than the other regions?

) At polar region  (b) At equator (c) Tropic of Cancer {d) None of this

-

16.What is the value of the escape velocity of earth?  (a) 9.8 km/sec (b) 10 kmfsecutpktﬂl'kmr:sec {(d) 12 km

17.How much time does a polar satellite take to complete one revolution around earth?

(a) 1 hour 30 min yfi/h,nurs {¢) 2 hour 20 min {d) 3 hour

L i 3 - -
18.1n case of a planet’s motion on its circular orbit



(a) its velocity remains constant in its orbit its angular velocity remains constant

. . '-" ™ - -
(c) 1ts total angular momentum remains constant. (d) radius of orbit remains constant.

19.1f the radius of earth is decreased keeping its mass constant, then the length of day will

\_’(ﬁ;ﬂgcrease (b) Increase  (c) remain same  (d) cannot say

20.1f the earth would stop rotating then the weight of an object on north pole will

(a) increase (b) decrease \/(p)’ﬁ;’mm same (d) be zero

21. Producer gas is defined as which of the following mixtures?

a) carbon dioxide and hydrogen b) carbon monoxide and hydrogen
k?A:;Zn monoxide and nitrogen d) carbon dioxide and nitrogen
vai'ﬂbm two perfect solutions with volume V each are combined, What is the volume of the solution as a result?
; by 2V
¢) Greater than 2V d}{ess' than 2V
23. The heat of solution or mixing has a negative side. )
~ a) Heat of solution Heat of dissolution

¢) Heat of reaction d) Heat of mixing
24. A solution made up of numerous components in which each component's property is the weighted sum of its sepa
properties. Fie answer is

\_A‘ﬂg‘ca& Solution b) Non-Ideal solution
c¢) Real Solution d) None of the mentioned

‘_j?b(hqt is an example of camphor in N2 gas?

Solid in gas solution b) Gas in gas solution
¢) Solid in liquid solution d) Liquid in gas solution
26. What makes a solution?
olute and solvent b) Solute and solute
, ¢) Solvent and solvent d) None of the above

'27. What is the class of the substitution product of LiAlH4 and an alkyl halide reaction?
a) Haloalkane b) Alkyl nitrite

)

¢) Nitroalkane \__id}Hjlﬂmm:bc-n
28. Which of the following statements about SN2 methanisms is incorrect?
The transition state is stable

b) The complete mechanism takes place in a single step t.
¢) The rate of the reaction depends on the concentration of both reactants aei]
d) There is an inversion of configuration |
29. What is 3-Bremopropene’s common name? _

Hyl bromide b) Vinyl bromide _ AT e
¢) Tert- Bulyl bromide d) Propylidene bromide kcﬁc"\*:‘q. co A
30. What is the catalyst in the chloroalkane reaction of a primary alcohol with HCI? . G.Jﬂt*“c,;r.\‘f -?‘,ﬁ“ﬁ
a) red phosphorous ' b) concentrated HIS‘D{ _ ,{_ﬁ.}‘ x-"‘#‘b

M;}ﬂﬁﬁydmus ZnC12 d) pyridine - 0 R\Ltg

,_Wg,;
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Note:- Attempt all Questions. Each question is of 1 mark.

1. If the 5th term of an arithmetric progression is 17 and the 9th term is 37. What is the 1st term?
(a)-6 (<3 ()0 (@3
o 2. A die is thrown. Let A be the event that the number obtained is greater than 3. Let B be the event that the
number obtained is less than 5, Then P (A v B)is

(a)3/5 (b) 0 (& F (dysn

3.1f Cos x + sin x =a then the value of cos 2x is
(a) a fb}a\."lﬁ—ﬂ L{Q.ﬁ'\.'z-kﬂ (d) a’ -1
4. 1F(1+ V1+x}tanx= 1+ V14X then sindx =

(a) 4x (b) 2x (e)x _(d) none of these

6'=x+l

5. For the real value of cos X then

(a) @ isacutcangle (b) & isobtuse angle (c)right angle  (d)mone of these

™
1 1 -
= ﬁ .
6. 1ftan 7 ,tan 3, thencos2@= \r_?)%
VT g an
(a) Sin28 _(bySin4? (c) Sin 47 (d) cos2 # e Conet
Nl ath .{1\1':.'_- ‘.“ '}':'n
g e \ : A th
zmsj e 0.V et
7. The value of 0 € LE is
(a) 1008 (b)A009  (¢)2017  (d)2000 _
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dy

8. 1f 21 +2F :2:‘*}' L'hen dx atx= ]:}r

(a) 0 (b1 (€)1 (d)2
cos™ ( x -x
9. Derivative of X x” arx=-1is
(a) -2 (b) -1 ()0~ (d)n
10. A number is chosen form among the first 30 natural numbers. The probability that the number is a prime number i:
1 A 3 1 u
JPJ’S (b) 10 (¢) 30 (dy 30

11.The value of gravitational acceleration on Earth is

(a)9.8 m/s ()98 m/s’ (c) 8.9 m/s (d) 8.9 m/s?

12.What would be. the height of an artificial satellite so that it remains stationary with respect to earth’s surface
(2)36000 km above the earth surface (b) 40000 km above the earth surface

{c;-EE’rUDD km above the earth surface (d) 63000 km above the earth surface

13.The value of gravitational acceleration

Mﬁéreﬂses as heipii increases from the earth. (b} decreac<s as height increases from the earth.
{c) remains constant. (d) None of the above

14, The centripetal force required by the artificial satellite to revolve around earth is provided by
(a) fuel contained in the satellite (b) gravitational force due to sun
(c)gravitational force due to earth (d) Thrust produced by burning fuel
-1 5.In which region of earth the weight of a body is slightly greater than the other regions?
JSa)Ad polar region  (b) At equator (¢) Tropic of Cancer {d) None of this
16.What is the value of the escape velocity of earth?  (a) 9.8 km/sec (b) 10 krrﬁjec .ﬂf)}}&”ﬁ’. kmisec (dj 12 knus
17.How much time does a polar satellite take to complete one revolution around earth?
{a) 1 hour 30 min @ﬁ‘ﬁuum {c) 2 hour 20 min (d) 3 hour

18.In case of a planet’s motion on its circular orbit



(a)7its velocity remains constant in its orbit ,@}»ifs/}]ngmar velocity remains constant
¥

(c) its total angular momentum remains constant. (d) radius of orbit remains constant.

19.11 the radius of earth is decreased keeping its mass constant, then the length of day will
\{g.)‘décrease (b) Increase  (c) remain same  (d) cannot say

iﬁ.lf the earth would stop rotating then the weight of an object on north pole will

(a) increase Wcr&ase (c) remai{;ame (d) be zero

21. Producer gas is defined as which of the following mixtures?

a) carbon dioxide and hydrogen b) carbon monoxide and hydrogen

. ¢)-carbon monoxide and nitrogen d) carbon dioxide and nitrogen

22. When two perfect solutions with volume V each are combined, What is the volume of the solution as a result?
a)V Y2V

c¢) Greater than 2V d) Less than EV

23. The heat of solution or mixing has a negative side.

a) Heat of solution by Heat of dissolution

¢) Heat of reaction d) Heat of mixing

24. A solution made up of numerous components in which each component’s property is the weighted sum of its sepa
properties. The answer is

- ayldeal Solution b) Non-Ideal solution
c¢) Real Solution d) None of the mentioned
25. What is an example of camphor in N2 gas?
_a)Solid in gas solution b) Gas in gas solution

e ¢) Solid in liquid solution d) Liquid in gas solution
26. What makes a solution?
a) Solute und solvent b) Solute and solute
¢} Solvent and =olvent d) None of the above
27. What is the class of the substitution product of LiAlH4 and an alky! halide reaction?
a) Haloalkane b) Alkyl nitrite
¢) Nitroalkane d¥Hydrocarbon

28. Which of the following statements about SN2 mechanisms is incorrect?
‘a) The transition state is stable

_b) The complete mechanism takes place in a single step

¢) The rate of the reaction depends on the concentration of both reactants
d) There is an inversion of configuration
29, What is 3-Bromopropene’s common name?

a) Allyl bromide b) Vinyl bromide

« ) Tert-Butyl bromide d) P1'|:;1':~qr lidene bromide
30. What is the catalyst in the chloroalkane reaction of a primary alcohol with HCI?
a) red phosphorous-, b) concentrated H2S04

¢} anhydrous ZnCI2 d) pyridine
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Note:- Attempt all Questions. Each question is of 1 mark.

1. If the Sth term of an arithmetric progression is 17 and the 9th term is 37. What is the 1st term?

(@ (b)-3 (©0 (43

2. A die is thrown. Let A be the event that the number obtained is greatar than 3. Let B be the event that the
number obtained is less than 5. Then P (A v B)is

(a5 (b) 0 (c) 1 (d) 52 g

€75
3.If Cos x + sin x =a then the value of cos 2x is

(a) a ﬂﬂavl—a Hgﬁiﬁ2+a m}az—t

41+ VI+Xyran x = 14+ VI+X then sin d4x =

{a) 4x (b) 2x ﬁ)x- (d) none cf these
H=x+i
5. For the real value of cos X then

{a) @ isacute angle -{})»*9 is obtuse angle  (c) right angle  (d) none pfthese

1 | . J
a=— ﬁ..-'_— }
6. Iftan 7, tan 3 thencos2@= \J‘Ud

Ak ¥ e "."._-; -.'I'I'
(a) Sin2P }m-smqﬁ ©sind?  (@co2? o0 eV
' e, et ot
] Emg#: ; 1..:'1:_.'.11\': L:‘ﬂ |
zﬂlﬂj COR N +£—:m;| L \ ,\-».I,__-:"i""‘
¢ 4
7. The value of o is

(a) 1008 /{br'mnu (c)2017  (d) 2000 -

—-.'_

D'lfﬁﬂtm

Q. Eng.llﬁa:_ I
6&\6@ R DD'LA‘!"IF




dy
8.1 2" +2" =2 then i px=1=y

{a) 0 byl (€)1 (d)2

=
s
cos™'( =

9. Derivative of ' +x" gtx=-1is

(a) -2 (b)-1 P A N (d)1

10. A number is chosen form among the first 30 natural numbers. The probability that the number is a prime number i:

1 3 1 ﬂ.'

Bk ®0 @30 @30

11.The value of gravitational acceleration on Earth is

@98ms ()98 m/s? (©)891s ()89 m/s

12.What would be the height of an artificial satellite so that it remains stationary with respect to earth’s surf".JLJ:.*at.t'i‘:Hif‘i
yaﬁum km above the earth s:..uface (b) 40000 km above the earth surface

(c) 26000 km above the earth surface (d) 63000 km above the earth surface

13.The value of gravitational acceleration

J{}J’increascs as height increases from the earil.. (b) decreases as height increases {roz=: the earth.
(¢) remains constant. (d) None of the above

14.The centripetal force required by the artificial satellite to revolve around earth is provided by

(a) fuel contained in the satellite (h) gravitational force due to sun

_{}.}‘gmviiajjnnal force due to earth - (d) Thrust produced by burning fuel

15.In which region of earth the weight of a body is siigh_ﬂ;-,r greater than the other regions?
}a‘ﬁn polar region  (b) At equator (c) Tropic of Cancer (d) None of this
16.What is the value of the escape velocity of earth?  (a) 9.8 km/sec (b) 10 km/sec ‘.{?AI.Z kmisec (d} 12 ks
17.How much time does a polar satellite take to complete one revolution around earth?
{a) | hour 30 min /{b} 2 hours {¢) 2 hour 20) min {d} 3 hour

18.1n case of a planet’s motion on its circular orbit



(&) its velocity remains constant in its orbit (ﬂ;-)‘lts angularvelocity remains constant
w

(¢) its total angular momentum remains constant, (d) radius of orbit remains constant,

19.If the radius of earth is decreased keeping its mass constant, then the length of day will

.{y«d'bcrcase (b) Increase  (c) remainsame  (d) cannot say

20.1f the earth would stop rotating then the weight of an object on north pole will

(a) increase (b) decrease _{eyTemain same (d) be zero

21. Prnduct.'_'r gas is defined as which of the following mixtures?

a) E“rb‘:'“ dioxide and hydrogen b) carbon monoxide and hydrogen
_&¥ carbon monoxide and nitrogen d) carbon dioxide and nitrogen

22#When two perfect solutions with volume V each ;ﬂimmbined. What is the volume of the solution as a result?
a) WV

¢) Greater than 2V d) Less than 2V
23. The heat of solution or mixing has a negative side.

™ a) Heat of solution b)Y Heat of dissolution
¢) Heat of reaction d) Heat of mixing

24. A solution made up of numerous components in which each component’s property is the weighted sum of its sepa
properties. The answer is

deal Solution b) Non-Ideal solution
¢) Real Solution d) None of the mentioned
25. What is an example of camphor in N2 gas?
) Solid in gas solution b) Gas in gas solution
c) Solid in liquid solution § d) Liquid in gas solution
26. What makes a solution?
};-’Snluie_ and solvent b) Solute and solute
¢) Solvent and solvent d) None of the above
27. What is the class of the substitution product of LiAlH4 and an alkyl halide reaction?
a) Haloalkane b) Alkyl nitrite
¢) Nitroalkane d¥Hydrocarbon

28. Which of the following statements about SN2 mechanisms is incorrect?

_?Jl’ha t!'_ansitiun state is stable
™, b) Thecomplete mechanism takes place in a single step
c) The rate of the reaction depends on the concentration of both reactants

d) There is an inversion of configuration _1
29. What is 3-Bromopropene's common name? ‘]
Iyl bromide b) Vinyl bromide %1
¢) Tert-Butyl bromide d) Propylidene bromide
30, What is the catalyst in the chloroalkane reaction of a primary alcohol with H(J? 5 Lol
a) red phosphorous 3 b) concentrated H2S04 S o \;'
c)afihydrous ZnCI2 d) pyridine oot B oo ot
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Note:- Attempt all Questions. Each question is of 1 mark.

1. If the 5th term of an arithmetric progression is 17 and the 9th term is 37. What is the 1st term?

(a)-6 (BY-3 ()0 (d)3
2. A die is thrown. Let A be the event that the number obtained is greater than 3. Let B be the event that the
number obtained is less than 5. Then P (A u B)is

(a) 3/5 B0 (e (452

3.1 Cos x + sin x =a then the value of cos 2x is

(a) a (byavi—a @{‘Ji"'ﬂ (d) @ -1

4.1f(1+ ”1+x}tﬂn1=j+“l+x then sin 4x =

(a) 4x (b) 2x X (d) none of these
I N
O=x+—
5. For the real value of cos X then
(a) & isacuteangle (b) @ isobtuse angle (c) right angle \Eﬂ),uohe of these Y
] 1 3
== ﬁ == \H-' ﬂl-_'nl‘."-.'l-‘ 1'1"‘_‘ .,_"I_\.-
6. If tan 7 . tan 3, then cos 2% = .\L-:vf*“ L'"‘;"
Aty F .1\-_'; k]
. P aett Saod
(a) Sin2/ \{/I;Jﬁin 4# ©Snd4f (@) cos2? o, EAEL Gne
@ P gumah
201 3,{ —m——m“fﬁ

7. The value of o€ is

: ¢ 2000 ()

(a) 1008 WJ{JJ (c)2017  (d) 200 At

sllte




dy y
.18 2 +2" =2 pen dr grx=1=y '

(a) 0 &m" . (©) 1 (d)2

' =x

i cos™ (—
9. Dernvative of X +X atx=-lis

(a) -2 (b) -1 e (d)1
10. A number is chosen form among the first 30 natural numbers. The probability that the number is a prime number i:
1 3 1 1

3 w0 (g %0 () 30

11.The value of gravitational acceleration on Earth is

(a) 9.8 m/s Vmﬁ m/s* (c) 8.9 m/s (d) 8.9 m/s?

12.What would be the height of an artificial satellite so that it remains stationary with respect to earth’s su.rfmgﬂ’

\Jﬁ}ﬂﬁlﬂﬂ km above the earth surface (b) 40000 km above the earth surface
{c]--lﬁﬂﬂ{] km above the earth surface (d) 63000 km above the earth surface
13.The value of gravitational acceleration

Wases as Leight increases from the earth. (b} dec:zases as height increases from the earth.
{c]: remains constaii, (d) Nore of the above

14.The centripetal force required by the artificial satellite to revolve around earth is provided by

{a) fuel contained in the satellite (b) gravitational force due to sun
Je'j/g?u,vitatinnal force due to earth (d) Thrust produced by burning fuel

15.In which region of earth the weight of a body is slightly greater than the other regions?
\_;534 polar fcgiun (b) At equator (¢} Tropic of Cancer (d) None of this
16.What is the value of the escape velocity of earth?  (a) 9.8 km/sec (b) 10 mﬂmcﬂz"kmasec (dj 12 ks

17.How much time does a polar satellite take to complete one revolution around earth?

{a) 1 hour 30 min \{Bﬂ’ﬁmrs {(¢) 2 hour 20 min (d) 3 hour

18.1n case of a planet’s motion on its circular orbit



() its velocity remains constant in its orbit \_j.hﬁ’ig’ngula:r velocity remains constant

(¢) its total angular momentum remains constant. (d) radius of orbit remains constant.

19.1f the radius of earth is decreased keeping its mass constant, then the length of day will
szﬁrem (b) Increase  (c) remain same (d) cannot say

20.If the earth would stop rotating then the weight of an object on north pole will

(a) increase (b) decrease \_}p]ﬁ?nain same (d) be zero

21. Producer gas is defined as which of the following mixtures?

\-yﬂn dioxide and hydrogen b) carbon monoxide and hydrogen
carbon monoxide and nitrogen d) carbon dioxide and nitrogen
+22. When two perfect solutions with volume V each are combined, What is the volume of the solution as a result?
a)Vv |\-/bﬁ‘3rn
¢) Greater than 2V d) Less than 2V
23, The heat of solution or mixing has a negative side.
™ a) Heat of solution _ y’ﬁ}'ﬁe&l of dissolution
c) Heat of reaction d) Heat of mixing
24. A solution made up of numerous components in which each component’s property is the weighted sum of its sepa
properties. The answer is
ve‘ﬁgga-[l Solution b) Non-Ideal solution
¢) Real Solution d) None of the mentioned
\jeyhat. is an example of camphor in N2 gas?
‘Solid in gas solution b) Gas in gas solution
- ¢) Solid in liquid solution d) Liquid in gas solution
26. What makes a solution?
\_‘.Eﬂ’sgﬂte and soivent b) Sotute and solute
" ¢) Solvent and solvent d) None of the above
27. What is the class of the substitution product of LiAlH4 and an alkyl halide reaction?
a) Haloalkane b) Alkyl-nitrite
¢) Nitroalkane \~drHydrocarbon

28. Which of the following statements about SN2 mechanisms is incorrect?
a) The transition state is stable

m VE;%E: complete mechanism takes place in a single step
e

rate of the reaction depends on the concentration of both reactants
d) There 1s an inversion of configuration

"%EF/Whal is 3-Bromopropene’s common name?

Allyl bromide b) Vinyl bromide 1 <Ah;
¢) Tert-Butyl bromide d) Propylidene brﬂm{de P gt
30. What is the catalyst in the chloroalkane reaction of a primary alcohol with HCI? et
a) red phosphorous b) concentrated 1-123041 )

ve'a/a-nh}rdmus ZnCI2 : d) pyridine
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1. If the 5th term of an arithmetric progression is 17 and the 9th term is 37. What is the 1st term?

m (a)-6 (-3 (c)Q-(d)3 _
2. A die is thrown. Let A be the event that the number obtained is greater than 3. Let B be the event that the
number obtained is less than 5. Then P (A v B)is:

@35 (b0 @l (@SR

3.1f Cos x + sin x =a then the value of cos 2x is
(a) a (b]a\."?.-ﬂ' j;‘}-a\.'2+ﬂ (d) a’ -1
Ty

==
41 (14 Vi+X yanx = 1+ VX (hensindx =

{a) 4x (b) 2x {e)x :(d) none of these
E=x+l
5. For the real value of cos X then
ta) @ isacute angle (b) @ isobtuse angle (c)rightangle _(dynoneof m\es}:\ﬁ\/}LL/F
P". L oS
1 | T AL ..-".I"-‘: é‘"
g =— B== - :,w:éx'i'::.lﬂk 5} \
6. If tan 7, an 3 thencos2¢= et et 4yad
15_:.‘:5..& L+ {_:\I":" Al
| \1“.";\]- .. oA L
(a) Sin 27 ysm e (c)Sin 4P (d) cos2 A puh
-\-I_'-F EL'I]!I.":
2018 ———— C:%ﬁ/ -
7. The value of 0 g is a0 Gd:":ﬁ""?‘
Q\‘a “%_’.-:‘-' ¥
(@1008  (BI009  (c)2017 (d) 2000 E“@M-\.G“ﬁ

D@@%a




21 J.-' Ix+_}| ﬁ [
8.1 2 +27 =27 then de atx=1=y i

(a) O J’”/ﬂ- i ()1 (d)2

-1
X =X

: cos™ (—
9. Derivative of X +X atx=-lis

(a) -2 (b) -1 ot (d)1

10. A number is chosen form among the first 30 natural numbers. The probability that the number is a prime number 1:
1 , 3 1 11

@ ®10 (30 (d) 30

11.The value of gravitational acceleration on Earth is

()98m/s  (b)98 i (c) 8.9 m/s (d) 8.9 m/s’

12.What would be the height of an artificial satellite so that it remains stationary with respect to earth’s surfacée—
(3136000 km ‘above the earth surface {b) 40000 km above the earth surface

(c) l:ﬁﬂﬂﬂ km above the earth surface (d) 63000 km above the earth surface

13.The value of gravitational acceleration

}threasns as height increases from the earth. (b) decreases as height increases from thz carth.
(c) remains constant. (d) None of the above

14.The centripetal force required by the artificial satellite to revolve around earth is provided by
(a) fuel contained in the satellite (b) gravitational force due to sun
fs.}fgravitatjunai force due to carth | (d) Thrust produced by burning fuel

15.In which region of earth the weight of a body is slightly greater than the other regions?
ﬁu’m polar region Iﬂ:r} Al equator {c) Tropic of Cancer (d) None of this

16.What is the value of the escape velocity of earth?  (a) 9.8 km/sec (b) 10 km/sec (c) M2 km/sec (d) L2 kmis
17.How much time does a polar satellite take to complete one revolution around earth?

{a) 1 hour 30 min V hours (¢) 2 hour 20 min (d) 3 hour

18.1n case of a planet’s motion on its circular orbit



"(a) its velocity remains constant in its orbit }b-ﬁts angular velocity remains constant
-
(c) its total angular momentum remains constant, (d) radius of orbit remains constant.
19.1f the radius of earth is decreased keeping its mass constant, then the length of day will
£l

(a) decrease 'Fb}-lfmrease (c) remain same (d) cannot say

20.1f the earth would stop rotating then the weight of an object on north pole will

(a) increase _@)‘ﬂr'eéraaae (¢c) remain same  (d) be zero

21. Producer gas is defined as which of the following mixtures?

a) carbon dioxide and hydrogen b) carbon monoxide and hydrogen
 carbon monoxide and nitrogen d) carbon dioxide and nitrogen
22. When two perfect solutions with volume V each are combined, What is the volume of the solution as a result?
a)V b2V
¢) Greater than 2V d) Less than 2V
23. The heat of solution or mixing has a negative side.
™ a) Heat of solution by Heat of dissolution
¢) Heat of reaction d) Heat of mixing

24. A solution made up of numerous components in which each component’s property is the weighted sum of its sepa
properties, The answer is

_aJ'Ideal Selution b) Non-Ideal solution
c) Real Solution d) None of the mentioned
25. What is an example of camphor in N2 gas?
Solid in gas solution b) Gas in gas solution
¢) Solid in liquid solution d) Liquid in gas solution
26. What makes a solution? '
_af Solute and solvent b) Solute and solute
¢) Solvent and solvent d) None of the above
27. What is the class of the substitution product of LiAlH4 and an alkyl halide reaction?
a) Haloalkane b) Alkyl nitrite
¢) Nitroalkane _d¥Hydrocarbon

28. Which of the following statements about SN2 mechanisms is incorrect?

- ¢ transition state is stable |
™  b)yThe complete mechanism takes place in a single step =
¢) The rate of the reaction depends on the concentration of both reactants \J\};\/
d) There is an inversion of configuration I
29. What is 3-Bromopropene’s common name? - c\-;‘.‘f"“:. S
_@rAllyl bromide b) Vinyl bromide et P ANt 0
¢) Tert-Butyl bromide d) Pr-:}pylldenf: bromide 11 “Lg‘n““';.l-“-;_:
30. What is the catalyst in the chloroalkane reaction of a primary alcohol with HC1? 2. L o e
a) red phesphorous b) concentrated H2S04
whydrous ZnCl12 d) pyridine
4
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Note:- Attempt all Questions. Each question is of 1 mark.

1. If the 5th term of an arithmetric progression is 17 and the 9th term is 37. What is the Ist term?

(a)-6 (b)-3 ()0 (d)3
2. A die isthrown. Let A be the event that the number obtained is greater than 3. Let B be the event that the
number obtained is less than 5. Then P(A u B)is

(@35  (b)0 (et~ (d)snr

3.1f Cos x + sin x =a then the value of cos 2x is
(a) a {b}aqz-a .{;}a-u'2+ﬂ (d) a’ -1
41t (1+ VI+X yran x = 1+V1+X thensindx =

(a) 4x (h) 2x AC) x {d) none of these

E=x+l

5. For the real value of cos X then

(a) @ isacuteangle (b) € is obtuse angle  (c) right angle @lpme of these

t%
o= l ﬂ = l
6.1ftan 7 ,tan 3 thencos2%= \Y}J o g

e a ™
@sin2?  msindl© sina# (@ cos2f P et
L P\ (i
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1{113_[ T D
7. The value of 0 € +e s

(a) 1008 (byT1009  (c)2017  (d)2000
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8.1 2" +27 =2 jhen o atx=1=y

(a) 0 \@"1 : (e)1 (d)2

cos™ x_] =
9. Derivative of X +Xx atx=-lis
(a) -2 (b) -1 (c)o” (d)l
10. A number is chosen form among the first 30 natural numbers. The probability that the number is a prime number i:
L, 3 1 224
1 Ea’} 3 (b) 10 (c) 30 (dy 30

11.The value of gravitational acceleration on Earth is

(a) 9.8 m/s ‘_@.{srfs m/s? (c) 8.9 m/s (d) 8.9 m/s®

12.What would be the height of an artificial satellite ;;;o that it remains stationary with respect to earth’s surfacd._/
(a) 36000 km above the earth surface ~ﬁ):3ﬁ[lﬂﬂ km above the earth surface

(c) 26000 km above the earth surface (d) 63{15{} km above the earth surface

13.The value of gravitational acceleration
L fg,yﬁ::creases as height increases from the e (b) decreases as height increases {rem the earth.

() remains constant. (dj None of the above

14.The centripetal force required by the artificial satellite to revolve around earth is provided by

(a) fuel contained in the satellite (b) gravitational force due to sun
Y
v _-.it)/gr,av’ﬁaliﬂnal force due to earth ' (d) Thrust produced by buming fuel

15.1n which region of earth the weight of a body is slightly greater than the other regions?
u{;{'ﬂ{pniaf r-::ginn (b) At equator (c) Tropic of Cancer (d) None of this
]E.:u‘v’hal is the value of the escape velocity of earth?  (a) 9.8 km/sec (b) 10 kiv/sec % 3,11 Zkmisec  (d) 12 ke
17.How much time does a polar satellite take to complete one revolution around earth?
(a) 1 hour 30 min I:,-ll} I-'hhu;‘a (c)2hour 20 min  (d) 3 hour

18.In case of a planet’s motion on its circular orbit



™

(a) its velocity remains constant in its orbit @ s angular velocity remains constant

(c) its total angular momentum remains constant. (d) radius of orbit remains constant.

19.11 the radius of earth is decreased keeping its mass constant, then the length of day will
Jg}ﬂgcmase (b) Increase  (c) remain same (d) cannot say

20.1f the earth would stop rotating then the weight of an object on north pole will

(a) increase (b) decrease J(c)remain same (d) be zero

21. Producer gas is defined as which of the following mixtures?

a) carbon dioxide and hydrogen b) carbon monoxide and hydrogen
_c) carbon monoxide and nitrogen d) carbon dioxide and nitrogen
22. When two perfect solutions with volume V each are combined, What is the volume of the solution as a result?
a)V b2V
c¢) Greater than 2V d) Less than 2V
23, The heat of solution or mixing has a negative side.
a) Heat of solution «_byHeat of dissolution
¢} Heat of reaction d)Heat of mixing
24. A solution made up of numerous components in which each component’s property is the weighted sum of its sepa
properties. The answer is
..a) Ideal Solution b) Non-Ideal solution
c) Real Solution d) None of the mentioned
25, ‘yhat is an example of camphor in N2 gas?
._a)-Solid in gas solution b) Gas in gas solution
“¢)-Solid in liquid solution d) Liquid in gas solution
26. What makes a solution? '
a) Solute and solvent b) Solute and solute
¢y Solvent and solvent d) None of the above
27. What is the class of the substitution product of LiAlH4 and an alkyl halide reaction?
a) Haloalkane b) Alkyl nitrite
¢) Nitroalkane .y Hydrocarbon
28. Which of the following statements about SN2 mechanisms is incorrect?
a)The transition state is stable
=h) The complete mechanism takes place in a single step

¢) The rate of the reaction depends on the concentration of both reactants D

d) There is an inversion of configuration X

29. What is 3-Bromopropene’s common name? _ i o }

1yl bromide b) Vinyl bromide . X ﬂ _

_:;?Lﬂ Butyl bromide d) Pmpylidene bromide \\,I\N S 0 g™ - b

30. What is the catalyst in the chloroalkane reaction of a primary alcohol with HCI? e 9 et 1;‘5"-":; 1 x'L

a) red phosphorous b) concentrated H2504 _ R -.. ok

¢) anhydrous ZnCI2 d) pyridine o O o
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1. If ther 5th term of an arithmetric progression is 17 and the 9th term is 37. What is the st term?
- 6 (b)-3 (c)0 (d)3 --
2. A die is thrown. Let A be the event that the numbe:r’;&njnad is greater than 3. Let B be the event that the
number obtained is less than 5. Then P (A v B)is
@35 (b0 (ot ()52

3.1f Cos x + sin x =a then the value of cos 2x is

{a}a {'b}a\nlz"ﬂ W 1{{1} ﬂ'—’_l

41F (14 Y1+ Xy fan x = 1+ VI+X then sin 4x =

{a) 4x (b) 2x (c) | (d) none of these
o
1
@=x+—
5. For the real value of cos * then
{a) ¢ isacute angle (b) € isobtuse angle (c)right angle  (d) ngne of these
~ \_//.Sm .
I R,
6.1ftan 7 , tan 3 . then cos 2% = o
e ,1\-:;'5\"' e kﬂ '
- .'a,t. o Lo %
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7. The value of 0 € e is
(a) 1008 (b) (e) 2017  (d) 2000
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8.1f 2° +27 =2 jhen atx=1=y

o
(2) 0 o (0) 1 d)2

cos™ [x_l ==
9. Derivative of ' +x" atx=-lis
@2  ®1 0 @

10. A number is chosen form among the first 30 natural numbers. The probability that the number is a prime number i;
1 3 e u
\ﬁ/f {b) 10 (c) 30 (d) 30
11.The value of gravitational acceleration on Earth is

(@)98m/s  (by98 m/s (©89mfs  (d)8.9ms

12.What would be the height of an artificial satellite so that it remains stationary with respect to earth’s surfaces)

\jﬁ-}ﬁﬂ;ﬂ km above the earth surface (b) 40000 km above the earth surface
(c) 26000 km above the earth surface (d) 63000 km above the earth surface

13.The value of gravitational acceleration

\_{}\dﬁrems as height increases from {..« earth. (b) decreases as height increzz2s from the earth.
{c¢) remains constant. (d) None of the above

14.The centripetal force required by the artificial satellite to revolve around earth is provided by
(a) fuel contained in the satellite (b) gravitational force due to sun
€) grayitational force due to earth (d) Thrust produced by burning fuel
15.1n which region of earth the weight of a body is slightly greater than the other regions?
At polar region  (b) At equator (¢) Tropic of Cancer (d) None of this
16.What is the value of the escape velocity of earth?  (a) 9.8 km/sec (b) 10 knﬁsecL_W Tf:;'mr'ﬁec (d) 12 ke
17.How much time does a polar satellite take to complete one revolution around earth?

(a) 1 hour 30 min Wr\. {¢) 2 hour 20 min {d) 3 hour

18.In case of a planet’s motion on its circular orbit



X 1a) its velocity remains constant in its orbit By ﬁ:g angular velocity remains constant
=24

(¢) its total angular momentum remains constant. (d) radius of orbit remairis constant.
19.If the radius of earth is decreased keeping its mass constant, then the length of day will
\_’(.fl_jéc{l‘easc (b) Increase  (¢) remain same (d) cannot say

20.1f the earth would stop rotating then the weight of an object on north pole will

(a) increase (b) decrease \_/Lo}fmﬁin same (d) be zero
21. Producer gas is defined as which of the following mixtures?
a) carbon dioxide and hydrogen b) carbon monoxide and hydrogen
carbon monoxide and nitrogen d) carbon dioxide and nitrogen
EEQ%en two perfect solutions with volume V each are combined, What is the volume of the solution as a result?
a) 2V
¢) Greater than 2V d) Less than 2V
23. The heat of solution or mixing has a negative side.
t'"_'l a) Heat of solution {eat of dissolution
¢) Heat of reaction d) Heat of mixing
24. A solution made up of numerous components in which each component’s property is the weighted sum of its sepa
k/?'gpanies. The answer is
) Ideal Solution b) Non-Ideal solution
¢) Real Solution d) None of the mentioned
\,?Lhﬂt is an example of camphor in N2 gas?
Solid in gas solution b) Gas in gas solution
~¢) Solid in liquid solution d) Liquid in gas solution
26. What makes a solution? ‘
olute-and solvent b) Solute and solute
¢) Solvent and solvent d) None of the above
27. What is the class of the substitution product of LiAlH4 and an alkyl halide reaction?
a) Haloalkane b) Alkyl nitrite
¢) Nitroalkane Iy Hydrocarbon

28. Which of the following statements about SN2 mechanisms is incorrect?
\_jﬁ‘%;h transition state is stable
™ _ b)The complete mechanism takes place in a single step
 ¢) The rate of the reaction depends on the concentration of both reactants

d) There is an inversion of configuration A
29. What is 3-Bromopropene’s common name?
Iyl bromide b) Vinyl bromide
¢) Tert-Butyl bromide d) Propylidene bmmilde .
30, What is the catalyst in the chloroalkane reaction of a primary alcohol with HCI? ASET N &
a) red phosphorous b) concentrated H2504 = I"‘:-"_.;';\ﬁ? “oo®
&m;'dmus ZnCl12 d) pyridine 0P e tx“""\‘\
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